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Direction:

Directions: In each of the following sentences, a sentenceis divided into 4 parts (A), (B), (C) and (D). Find out the
error in these partsif any. If all the partsare correct, mark (E) asyour answer.

e Question No.1

The amendment provides that (A)/an electoral registration officer may require (B)/an individual to furnish their

Aadhaar number (C)/in order to establish its identity (D).
Options:

1. The amendment provides that

2. an electoral registration officer may require
3.an individual to furnish their Aadhaar number
4.in order to establish its identity

5. No error
Answer : in order to establish its identity

Direction:

Directions: In each of the following sentences, a sentenceisdivided into 4 parts (A), (B), (C) and (D). Find out the
error in these partsif any. If all the partsare correct, mark (E) asyour answer.

e Question No. 2

In the long run, we face the (A)/disturbing prospect of the police becoming (B)/gatekeepers over what content

reaches (C)/the public domain and what do not (D).
Options:

1. In the long run, we face the

2. disturbing prospect of the police becoming
3. gatekeepers over what content reaches

4. the public domain and what do not

5. No error
Answer : the public domain and what do not

Direction:
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Directions: In each of the following sentences, a sentenceisdivided into 4 parts (A), (B), (C) and (D). Find out the
error in these partsif any. If all the partsare correct, mark (E) asyour answer.

Question No. 3

Surveys and anecdotal evidence (A)/of higher attendance on (B)/’egg days’ point to the (C)/ popular of the scheme

among the beneficiaries (D).
Options:

1. Surveys and anecdotal evidence

2. of higher attendance on

3.’egg days’ point to the

4. popular of the scheme among the beneficiaries

5. No error

Answer : popular of the scheme among the beneficiaries

Direction:

Directions: In each of the following sentences, a sentenceisdivided into 4 parts (A), (B), (C) and (D). Find out the
error in these partsif any. If all the partsare correct, mark (E) asyour answer.

Question No. 4

But in reality, each passing day (A)/has only brought a stream (B)/of bad news for (C)/women and girls on

Afghanistan (D).
Options:

1. But in reality, each passing day
2. has only brought a stream

3. of bad news for

4. women and girls on Afghanistan

5. No error
Answer : women and girls on Afghanistan

Direction:

Directions: In each of the following sentences, a sentenceisdivided into 4 parts (A), (B), (C) and (D). Find out the
error in these partsif any. If all the partsare correct, mark (E) asyour answer.
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e Question No. 5

Nazi war criminals accused with (A)/participating in the Holocaust continue (B)/to stand trial and any attempt

(©)/of denial is met with punishment (D).
Options:

1. Nazi war criminals accused with

2. participating in the Holocaust continue
3. to stand trial and any attempt

4. of denial is met with punishment

5. No error
Answer : Nazi war criminals accused with

Direction:

The given question has a statement with two highlighted wor ds/ phrases. Choose the most appropriate option from
the given alternatives which can help replace the highlighted wor dsto make the statement grammatically and
logically correct. If the given sentenceis correct asit is, mark 'no correction required' asthe answer.

e Question No. 6

A statement assured by the office of Health Minister said that talks would be propagate with the postgraduate

medicos on Tuesday.
Options:

1. insure, appropriated
2.issued, held

3. assumed, helped

4. include, conducted

5. No improvement required
Answer : issued, held

Direction:

The given question has a statement with two highlighted wor ds/ phrases. Choose the most appropriate option from
the given alter natives which can help replace the highlighted wor dsto make the statement grammatically and
logically correct. If the given sentenceis correct asit is, mark 'no correction required' asthe answer.
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e Question No.7
The farmers are worried that season may be awalkout like last year with the pandemic yet to be continued.
Options:

1. washout, contained
2. walk in, constrained
3. walkover, contaminated
4. wash off, constitute

5. No improvement required
Answer : washout, contained

Direction:

The given question has a statement with two highlighted wor ds/ phrases. Choose the most appropriate option from
the given alter natives which can help replace the highlighted wor dsto make the statement grammatically and
logically correct. If the given sentenceis correct asit is, mark 'no correction required' asthe answer.

e Question No. 8

The prosecution will strongly offering the withdrawal petition as there are enough gainsand materials on record for

objecting the petition.
Options:

1. observes, greetings
2. obsolete, grief

3. oppose, grounds

4. obtain, gross

5. No improvement required
Answer : oppose, grounds

Direction:

The given question has a statement with two highlighted wor ds/ phrases. Choose the most appropriate option from
the given alter natives which can help replace the highlighted wor dsto make the statement grammatically and
logically correct. If the given sentenceiscorrect asit is, mark 'no correction required' asthe answer.
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e Question No.9

Lack of efface legal representation at police stations is a huge detrimental to arrested or detained persons.
Options:

1. effective, detriment
2. effort, determination
3. effortless, determine
4, effect, destruction

5. No improvement required
Answer : effective, detriment

Direction:

The given question has a statement with two highlighted wor ds/ phrases. Choose the most appropriate option from
the given alter natives which can help replace the highlighted wor dsto make the statement grammatically and
logically correct. If the given sentenceis correct asit is, mark 'no correction required' asthe answer.

e Question No.10

The medical fraternityserved the decision and many doctors saysthat it was a right move by the district

administration.
Options:

1. conclusion, agree

2. welcomed, opined

3. constrained, appreciates
4. achieve, conclude

5. No improvement required
Answer : welcomed, opined

Direction:
Fill in the blankswith the most appropriate word given in the options against the correct blank number.

In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)

has ___________ (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the
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large exposure framework released on Tuesday, theregulator ____________
which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by
another 5% withboard’s ____________ (4). For a particular borrower group, the cap is at 25%, with additional 10%
if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.

Consequently, it will be (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.

Question No. 1
Choose the appropriate word for blank 1.
Options:

1. recurred
2. mandated
3. promise
4. excavated

5. fortified
Answer : mandated

Direction:
Fill in the blanks with the most appropriate word given in the options against the correct blank number.

In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)

has (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the

large exposure framework released on Tuesday, the regulator (2) aggregate exposure of NBFCs

which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by

another 5% with board’s (4). For a particular borrower group, the cap is at 25%, with additional 10%

if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.

Consequently, it will be (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.
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e Question No. 12
Choose the appropriate word for blank 2.
Options:

1. capped
2. waited
3.realised
4. helps

5. listing
Answer : capped

Direction:
Fill in the blanks with the most appropriate word given in the options against the correct blank number.

In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)
has (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the

large exposure framework released on Tuesday, the regulator (2) aggregate exposure of NBFCs

which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by
another 5% withboard’s ________ (4). For a particular borrower group, the cap is at 25%, with additional 10%
if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.

Consequently, it will be (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.

e Question No.13
Choose the appropriate word for blank 3.
Options:

1. accepted

2. liquidate



0D
ixam Pees @

3. translated
4. withdrew

5. extended
Answer : extended

Direction:
Fill in the blanks with the most appropriate word given in the options against the correct blank number.

In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)

has (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the

large exposure framework released on Tuesday, the regulator (2) aggregate exposure of NBFCs

which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by
another 5% with board’s _____ (4). For a particular borrower group, the cap is at 25%, with additional 10%
if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.

Consequently, it will be (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.

Question No. 14
Choose the appropriate word for blank 4.
Options:

1. appropriate
2. apparition
3. appellate
4. approval

5. approximate
Answer : approval

Direction:
Fill in the blankswith the most appropriate word given in the options against the correct blank number.
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In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)
has (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the

large exposure framework released on Tuesday, the regulator (2) aggregate exposure of NBFCs

which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by
another 5% withboard’s ________ (4). For a particular borrower group, the cap is at 25%, with additional 10%
if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.

Consequently, it will be (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.

Question No. 15
Choose the appropriate word for blank 5.
Options:

1. reach

2. crouch
3. hunch
4. breach

5. search
Answer : breach

Direction:
Fill in the blanks with the most appropriate word given in the options against the correct blank number.

In yet another move to close the regulatory gap between banks and shadow banks, the Reserve Bank of India (RBI)

has (1) exposure limits to the non-banking finance companies, in line with commercial banks. In the

large exposure framework released on Tuesday, the regulator (2) aggregate exposure of NBFCs

which are in the upper layer toward one entity at 20% of capital base. The limit canonlybe ____________ (3) by
another 5% with board’s ____________ (4). For a particular borrower group, the cap is at 25%, with additional 10%
if exposure is towards infrastructure. However, NBFCs which are into infrastructure finance can have exposure of 25
per cent, with an option of additional 5 per cent of Tier | capital to a single counterparty. In case of

(5) of the large exposure limits, the NBFCs have to report to the department of supervision of RBI.
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Consequently, itwillbe _____ (6) to undertake any further exposure (at the entity or group level) until it

is down within the limit.

Question No. 16
Choose the appropriate word for blank 6.
Options:

1. bore
2. barred
3. built
4. born

5. beaked
Answer : barred

Direction:

In the following question, five words are given in bold and marked as A, B, C, D and E. These words may or may
not bein their correct places. Arrange the wordsin such a way that they will form a meaningful sentence. Choose
the correct order of arrangement from the options given below. If all thewords are at their appropriate places,
select option 5, ‘No rearrangement required’ asthe answer.

Question No. 17

When he needed (A) them that she told (B) to be in hospital to get fees (C), they paid him his oxygen (D) and
dropped him home (E).

Options:

1. BADCE
2.BDACE
3. CEABD
4. ECABD

5. No rearrangement required
Answer : BADCE

Direction:
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In the following question, five words are given in bold and marked as A, B, C, D and E. These words may or may
not bein their correct places. Arrange the wordsin such away that they will form a meaningful sentence. Choose
the correct order of arrangement from the options given below. If all thewords are at their appropriate places,
select option 5, ‘No rearrangement required’ asthe answer.

Question No.18

But many are rampage (A) to give it any publicity for flowers (B) of invasion by tourists who, sometimes, go on the

reluctant (C), plucking the fear (D) and uprooting (E) the plants.
Options:

1. EBACD
2. DCABE
3. CDABE
4. CADBE

5. No rearrangement required
Answer : CDABE

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

Question No. 19

Videos of the viewed (A), including images of people took off (B) from the aircraft as it falling (C), were widely

incident (D) on social media.
Options:

1.Only A-B
2. A-D and B-C
3.A-Cand B-D
4.Only B-D

5. NO exchange required

Answer : A-D and B-C
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Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

Question No. 20

The State government will demand (A) the scheme to meet (B) solar pumps to promote (C) the increasing

implement (D) for electricity for well irrigation in Tamil Nadu.
Options:

1. Only A-B

2.A-D and B-C
3.A-Cand B-D
4. A-Band C-D

5. No exchange required

Answer : A-D and B-C

Question No. 21

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentenceisthen followed by options with the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

It is mandatorily (A) to see to it that the Force is not put (B) in a vulnerable state, and it is required (C)for

personnel to imperative (D) get vaccinated.
Options:

1. Only A-B
2.0nly C-D
3.A-D and B-C
4.0nly A-D

5. No improvement required

Answer : Only A-D
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Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange

reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
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firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.

Question No. 22
Why the poorest countries suffer the most because of the compounding crises that is mentioned in the passage?
Options:

1. They are the victims of climate change, hence they are affected badly.

2. Their exports are badly affected and there is a steep fall in the value of their currencies.
3. They suffer because rich countries exploit them for raw materials during these crises.

4. They are mostly consumers, and their food imports will badly be affected.

5. All are correct
Answer : They are mostly consumers, and their food imports will badly be affected.

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial

support, increased agricultural production, and open trade. They have to combine their expertise and financing to
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quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.
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e Question No. 23
How can international communities help middle-income countries to tackle the ongoing crises?
(i) assisting them financially
(i) providing them with emergency food supplies

(iii) making market policies stricter

Options:
1. Only i
2.Both ii and iii
3.Bothiandii
4. Only iii
5. All of these

Answer : Both i and ii

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects

in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
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goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Qil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.

Question No. 24
Which of the following is true regarding World Bank’s assessments and observations?
(i) The economy of post-war Ukraine seems promising, compared to the Russian economy.

(ii) Because of appropriate preventive measures, economic growth is gaining momentum in many countries.
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(iii) The rising prices of commodities in the international market is due to negative balance of trade.
Options:

1. Only i

2. Both ii and iii
3.Bothiandiii
4.0nly ii

5. All are correct
Answer : Both ii and iii

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.
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The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.
Question No. 25
Why is there a sharp fall in the value of the rouble?

Options:

1. Russia has used up its foreign exchange reserve for the war.

2. The exports reduced sharply because of decrease in production, which led to the fall of the rouble
3. The disciplinary actions taken against Russia led to the decrease in the value of the rouble.

4. The USA taking advantage of Russia’s situation led to the fall of the rouble.

5. The failure to source raw materials from Ukraine for production led to the decline of the rouble.
Answer : The disciplinary actions taken against Russia led to the decrease in the value of the rouble.

Direction:
Read the passage and answer the questionsthat follow.
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The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.
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The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.

Question No. 26

The actions taken by the international organisations against Russia did not have any impact on oil and gas exports,

it will surely delay the global transition to renewable energy sources.
According to the passage, this statement is-
Options:

1. Definitely true
2. Definitely false
3. Probably true
4. Probably false

5. Cannot be determined
Answer : Definitely false

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial

support, increased agricultural production, and open trade. They have to combine their expertise and financing to
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quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.
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e Question No. 27
Why were food prices high globally, even before the Russia- Ukraine war?
Options:

1. The stability in market operations

2. The exorbitant price of fuel.

3. The fall in the price of fertilizers and agricultural equipment
4. Pandemic-induced deflation

5. All of these
Answer : The exorbitant price of fuel.

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising

commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
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balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This
was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.
Question No. 28

Which of the following statement (s) is/are true, according to the passage?

(i) The impacts of the war and pandemic are slowly reducing and adding to that, the people are more sheltered

from climate change in the present world.

(i) The political stability in poor countries is at stake because of the increase in prices of food.

(iii) The sanctions imposed against Russia has a negative effect only to Russia and Ukraine.

(iv) International organisations like WTO have little role to play in shaping the post-war economy.

Options:
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1. Only ii
2.Bothiandiii
3.ii, iii and iv

4. Both iii and iv

5. All are correct
Answer : Only ii

Direction:

Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19
pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to

the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
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their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all
countries. This will be especially true in the post-war period, when businesses and families will need to repair their
balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.

Question No. 29
Which of the following is the antonym of the word retreat?
Options:

1. consume
2. advance
3. enforce
4. destroy

5. compromise
Answer : advance

Direction:
Read the passage and answer the questionsthat follow.

The world is shaken by compounding crises. The fallout of the war in Ukraine is adding to the ongoing COVID-19

pandemic that now enters its third year, while climate change and increased fragility and conflict pose persistent
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harm to people around the globe. Sharply higher prices for staples and supply shortages are increasing pressure on
households worldwide and pushing millions more into poverty. The threat is highest for the poorest countries as
they have a large share of consumption from food imports, but vulnerability is increasing rapidly in middle-income
countries, which host the majority of the world’s poor. The international community has to urgently support
vulnerable countries through coordinated actions ranging from provision of emergency food supplies, financial
support, increased agricultural production, and open trade. They have to combine their expertise and financing to
quickly step up their policy and financial support to help vulnerable countries and households as well as to increase
domestic agricultural production in, and supply to, impacted countries. It is critical to quickly provide support for

food insecure countries in a coordinated manner.

The World Bank has estimated that the Ukrainian economy will decline by 45% or more because of the war. Effects
in other countries are a combination of the war’s effects on prices of a number of agricultural and non-agricultural
goods where Russia, Ukraine and/or Belarus are important global suppliers, supply chain disruptions that have
continued from the pandemic and other inflationary pressures. Even as the impact of the pandemic on growth is
subsiding, partly because of increases in vaccination rates, the economic scars left behind after two years of the
pandemic are deep. Inflation and deficits in trade balances reflect supply bottlenecks, pent-up demand, and rising
commodity prices in international markets. Support measures and reduced revenues have deteriorated fiscal
balances. All these problems have become more pressing because of the immediate impact of the war in Ukraine,

which has pushed up prices of oil and other commodities in international markets.

The crisis in Ukraine has created a humanitarian crisis of immense proportions and has also dealt a severe blow to
the global economy. Poorer countries are at high risk from the war, since they tend to spend a larger fraction of
their incomes on food compared to richer countries. This could impact political stability. From a macroeconomic
perspective, higher prices for food and energy will reduce real incomes and depress global import demand.
Sanctions will impose economic costs on not only Russia directly but also on its trading partners. Sanctions are
already having a strong impact on Russia’s economy, with possible medium to long-term consequences.
Disconnecting Russian banks from the SWIFT settlement system and blocking Russia’s use of foreign exchange
reserves have triggered a sharp depreciation of the rouble, reducing real incomes in the country. Many international
firms are also retreating from the Russian market. Oil and gas exports have yet to be strongly affected by the

sanctions, but the crisis could accelerate the global transition towards greener energy sources.

The WTO has an important role to play in mitigating the negative effects of the crisis and in rebuilding a post-war
global economy. Keeping markets open will be critical to ensure that economic opportunities remain open to all

countries. This will be especially true in the post-war period, when businesses and families will need to repair their
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balance sheets and rebuild their lives. Through its importance for international trade and its monitoring, convening
and other functions, the WTO is central to ensuring that international trade continues to serve billions of people
across the world. Already prior to the war in Ukraine, international food prices had reached an all-time high. This

was mostly due to market conditions, but also high prices of energy, fertilizers and all other agricultural services.
e Question No. 30

Which of the following is the antonym of the word ‘pushed’?

Options:

1. drop
2.increase

3. give

4. encourage

5. packed

Answer : drop

e Question No. 31

A and B started a business investing Rs. 2000 for X" months and Rs. 2500 for 8 months, respectively. Out of total

profit of Rs. 5000, profit share of B is Rs. 2500. Find the value of x.
Options:

1. 8 months
2.10 months
3.7 months
4.3 months

5. None of these

Answer : 10 months

e Question No. 32
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Ajay spent 30% of his monthly income on rent and 46% of the remaining on food and the rest amount is saved by
him which is Rs. 3213, then find the monthly income of Vikram if ratio of monthly of Vikram and Ajay is 20:17,

respectively.
Options:

1.Rs. 8500
2. Rs. 6500
3.Rs. 5250
4. Rs. 11875

5.Rs. 10000

Answer : Rs. 10000

e Question No. 33

‘A, ‘B" and ‘C’ started a business by investing Rs. 2500, Rs. 4500 and Rs. 3500, respectively. After 4 months, ‘B’ left
and ‘A’ and ‘C’ added Rs. 1000 each to their respective initial investment. Find the ratio of annual profit received by

‘A’,'B"and ‘C".
Options:

1.19:6:7
2.1:5:7
3.19:5:7
4.10:7:7

5.19:9:25

Answer :19:9:25

e Question No. 34

Speed of a car and a bus is 20 km/h and 10 km/h, respectively. If the time taken by the car to cover a distance of ‘9x’

km is 4 hour less than time taken by the bus to cover a distance of ‘5x’ km, then find the value of “9x’

Options:
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1.700
2.730
3.750
4.720

5. None of these

Answer : 720

Question No. 35

The ratio of present age of A to that of B is 3:2 and the ratio of present age of A to that of Cis 3:4. The average

present age of A, B and Cis 15 years. Find the age of B, after 7 years.
Options:

1.15 years

2.12 years
3.24 years
4.17 years

5.20 years
Answer : 17 years

Direction:
Answer the questions based on the information given below.

There are 3 companies A, B and C. In A, there are total 20 employees out of which 5 employees like none of the
brand shoes, 7 employees like both Nike shoes and adidas shoes while 12 employees like adidas shoes. In B, 8
employees like Nike shoes, 3 employees like both the shoes, 3 employees like adidas shoes and 2 employees like
none of the 2 shoes. In C, 25 employees like Nike shoes, 15 employees like Nike shoes only and 15 employee likes

Adidas. In C, there are 30 employees only.

Question No. 36
What is the average number of employees who like only Nike shoes, in company A and that in B?

Options:
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1.5
2.4
3.8
4.3

5. None of these
Answer: 4

Direction:

Answer the questions based on the information given below.

There are 3 companies A, B and C. In A, there are total 20 employees out of which 5 employees like none of the
brand shoes, 7 employees like both Nike shoes and adidas shoes while 12 employees like adidas shoes. In B, 8
employees like Nike shoes, 3 employees like both the shoes, 3 employees like adidas shoes and 2 employees like
none of the 2 shoes. In C, 25 employees like Nike shoes, 15 employees like Nike shoes only and 15 employee likes

Adidas. In C, there are 30 employees only.

Question No. 37

Total number of employees who like both brand shoes in all 3 companies together is how much percent of the total

number of employees who like only Adidas shoes from all 3 companies together?
Options:

1.210%

2.230%
3.250%
4.200%

5. None of these
Answer : 200%

Direction:

Answer the questions based on the information given below.

There are 3 companies A, B and C. In A, there are total 20 employees out of which 5 employees like none of the
brand shoes, 7 employees like both Nike shoes and adidas shoes while 12 employees like adidas shoes. In B, 8

employees like Nike shoes, 3 employees like both the shoes, 3 employees like adidas shoes and 2 employees like
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none of the 2 shoes. In C, 25 employees like Nike shoes, 15 employees like Nike shoes only and 15 employee likes

Adidas. In C, there are 30 employees only.

Question No. 38

Out of total number of employees from all 3 companies together approximately what percent employees like Nike

shoes?
Options:

1.171%
2.151%
3.161%
4.140%

5. None of these
Answer : None of these

Direction:

Answer the questions based on the information given below.

There are 3 companies A, Band C. In A, there are total 20 employees out of which 5 employees like none of the
brand shoes, 7 employees like both Nike shoes and adidas shoes while 12 employees like adidas shoes. In B, 8
employees like Nike shoes, 3 employees like both the shoes, 3 employees like adidas shoes and 2 employees like
none of the 2 shoes. In C, 25 employees like Nike shoes, 15 employees like Nike shoes only and 15 employee likes

Adidas. In C, there are 30 employees only.
Question No. 39
Find the sum of the number of employees who like Adidas shoes in given three companies.

Options:

1.32
2.33
3.30

4.35



0D
ixam Pees @

5. None of these
Answer : 30

Direction:

Answer the questions based on the information given below.

There are 3 companies A, B and C. In A, there are total 20 employees out of which 5 employees like none of the
brand shoes, 7 employees like both Nike shoes and adidas shoes while 12 employees like adidas shoes. In B, 8
employees like Nike shoes, 3 employees like both the shoes, 3 employees like adidas shoes and 2 employees like
none of the 2 shoes. In C, 25 employees like Nike shoes, 15 employees like Nike shoes only and 15 employee likes

Adidas. In C, there are 30 employees only.

Question No. 40

If average age of the employees in given 3 companies who doesn't like any brand shoes is 55 years, then find the

sum of ages of the employees who doesn't like any brand shoes in given 3 companies.
Options:

1. 385 years
2.325 years
3. 335 years
4. 375 years

5. None of these
Answer : 385 years

Direction:
What approximate value will comein place of the question mark (?) in the following question?

(Note: You arenot expected to calculate the exact value.)

Question No. 41
?% of (144.31 + 17.97 x 60.011) = 239.98

Options:



1.50
2.40
3.70
4.64

5.30
Answer : 50

Direction:
What approximate value will comein place of the question mark (?) in the following question?

(Note: You are not expected to calculate the exact value.)

e Question No. 42
(2220.23 + 36.98) + (768.32 + 23.9) + 164411 = ?
Options:

1.1928
2.1829
3.1736
4.1706

5.1942
Answer : 1736

Direction:

What approximate value will comein place of the question mark (?
) in the following question?

(Note: You arenot expected to calculate the exact value.)

e Question No. 43
30.22% of (79.9 x 6.01) + 69.97 =?
Options:

1.190

ixam

0(6



2.214
3.132
4.153

5.238
Answer: 214

Direction:
What approximate value will comein place of the question mark (?) in the following question?

(Note: You are not expected to calculate the exact value.)
Question No. 44

600.11 +14.98 x 514 - 1719 = \/?

Options:

1.784
2.576
3.484
4.729

5.676
Answer : 784

Direction:
What approximate value will comein place of the question mark (?) in the following question?

(Note: You are not expected to calculate the exact value.)

Question No. 45
/2916 x 1/4489 + 20133 + 106198 = ?
Options:

1.1080
2.1450

3.1640

ixam
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4.1720

5.1520

Answer : 1080

e Question No. 46

Length of a rectangle is equal to the side of a square. If area of the square and rectangle is 529 m2 and 299 m2,

respectively then find the perimeter of the rectangle.
Options:

1.70 metres
2.72 metres
3. 64 metres
4.78 metres

5. 80 metres

Answer : 72 metres

e Question No. 47
A alone can complete 40% of a work in 18 days while B takes 15 days more than A to complete it. If Band C
together can complete the work in 20 days, then find the time taken by C alone to complete the same work.
Options:
1.30 days
2.36 days
3.24 days

4. 42 days

5.21days

Answer : 30 days

e Question No. 48
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A plot has to be divided among P, Q and R in the ratio 4:6:9 respectively. If the area of plot received by R is 5100m?

more than the area of plot received by Q, then find the total area of plot received by P and Q.
Options:

1.16800m?
2.12000m?
3.17000m?
4.11200m?

5.9800m?

Answer : 177000m?

e Question No. 49

Akshay invested Rs. 1050 in two schemes P and Q in the respective ratio of 5:2. Scheme P and Q are offering simple
interest at the rate of 8% per annum and 10% per annum, respectively. Find the interest obtained after 2 years from

scheme P.
Options:

1. Rs. 120
2.Rs.168
3.Rs. 252
4.Rs. 216

5.Rs.192

Answer : Rs. 120

e Question No. 50

A shopkeeper sold an article at a discount of 16%. If he had given a discount of 7.5% in place of 16%, then he would
have earned Rs. 204 more. If the cost price of the article is 25% less than its marked price, then find the cost price of

the article.

Options:
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1.Rs. 2,025
2.Rs. 1,650
3.Rs. 2,080
4.Rs. 1,800

5.Rs. 1,600
Answer : Rs. 1,800

Direction:

In the following questions, two equations numbered | and Il are given. You have to solve both the equations and
give answer.

e Question No. 51
1.35x% - 24x - 35 =0
IL12y?-y-6=0
Options:

1. if x>y
2.if xzy
3.if x<y
4. if xsy

5. if x=y or the relationship cannot be established
Answer : if x=y or the relationship cannot be established

Direction:

In the following questions, two equations numbered | and |1 are given. You have to solve both the equations and
give answer.

e Question No. 52
2 _
L6y  +43y+72=0
2
I.6x"+31x+40=0

Options:
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1 if x>y
2. if xzy
3.if x<y
4. if xsy

5. if x =y or the relationship cannot be established
Answer : if xzy

Direction:

In the following questions, two equations numbered | and Il are given. You have to solve both the equations and
give answer.

e Question No. 53
2 _
L2y“ +1y +15=0
2
I.3x" +4x-4=0
Options:

Lifxzy
2. lfx=sy
3.lfx<y
4.1f x>y

5. If relationship between a and b cannot be established orx =y
Answer : If x &gt; y

Direction:

In the following questions, two equations numbered | and |1 are given. You have to solve both the equations and
give answer.

e Question No. 54
2 _
.2x"-12x-144 =0
2
.2y +y-15=0

Options:
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—= Prepare 50% Faster

1. if x<y
2.if x>y
3.if xzy
4. if xsy

5. if x=y or the relationship cannot be established.
Answer : if x=y or the relationship cannot be established.

Direction:

In the following questions, two equations numbered | and Il are given. You have to solve both the equations and
give answer.

e Question No. 55
2 _
L4X" +4x-24=0
2
I.3y" - 6y-45=0
Options:

1. if x<y
2. if x>y
3.if xsy
4.if xzy

5. if x=y or the relationship cannot be established

. . . |
Answer : if x=y or the relationship canng

Direction:Study the following graph car ¢

appointed by a Company in six years.
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—=Prepare 50% Faster

e Question No. 56

What is the approximate difference between percent increase/ decrease in the appointment of Managers and

clerks from the year 2010 to 2011?
Options:

1.9%

2.14%
3.18%
4.25%

5. None of these
Answer : 18%

Direction:
Study thefollowing graph carefully to answer these questions:

Number of Managers and Clerks appointed by a Company in six years.

e Question No. 57
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—=Prepare 50% Faster

What was the approximate average number of managers in all the years together?
Options:

1.331
2.341
3.31M
4.321

5. None of these
Answer : 321

Direction:
Study the following graph car efully to answer these questions:

Number of Managers and Clerks appointed by a Company in six years.

e Question No. 58
What was the ratio of the number of appointed managers in 2013 to the appointed clerks in 2011 ?

Options:
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—=Prepare 50% Faster
1.8:3
2.5:2
3.7:3
4.4

5. None of these

Answer : 8:3

Direction:Study the following graph car ¢ er these questions. Number of Managers

appointed by a Company in six years.

e Question No. 59

The number of appointed clerks in the year 2010 was approximately what percent of the number of appointed

managers in the same year?
Options:

1.57%
2.39%
3.75%
4. 61%

5.44%

Answer : 57%
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—= Prepare 50% Faster

Direction:Study the following graph car

appointed by a Company in six years.

e Question No. 60

What is the approximate difference between the average of number of managers & the average of number of

clerks appointed in all the years together?
Options:

1. 69
2.75
3.86
4.96

5.102
Answer : 96

Direction:
Answer the questions based on the information given below.

The given table shows the runs scored by four cricketers in domestic tournaments in three different years i.e. in

2015, 2016 and 2017.
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Players Runs scored | Runs scored Runs scored in
in 2015 in 2016 2017

A (x + 240) (x — 180) (1.5x = 8)

B (2x — 180) (2.5x + 120) (x + 200)

C (1.5 + 240) | 4x (1.5%x— 120)

D 2.5x (3x—320) 5X

e Question No. 61

If the run scored by player A in 2015 is 20% more than number of runs scored by player C in 2017, then find the ratio

of runs scored by players C and D in 2015, together to the runs scored by player C in 2016.

Options:

1.5:8

2.97
3.9:8
4.9:1

5.8:9

Answer : 9:8

Direction:

Answer the questions based on the information given below.

The given table shows the runs scored by four cricketers in domestic tournaments in three different years i.e. in

2015, 2016 and 2017.

Players Runs scored | Runs scored Runs scored in
in 2015 in 2016 2017

A (x + 240) (x—180) (1.5x = 8)

B (2x —180) (2.5x + 120) (x + 200)

C (1.5x + 240) | 4x (1.5x—120)

D 2.5x (3x—320) 5x
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e Question No. 62

If the average runs scored by players A, B and C in 2017 is 385, then find the difference between the runs scored by

players A and B, together in 2016 and runs scored by player B in 2015.
Options:

1.700
2.730
3.740
4.750

5.720
Answer : 720

Direction:
Answer the questions based on the infor mation given below.

The given table shows the runs scored by four cricketers in domestic tournaments in three different years i.e. in

2015, 2016 and 2017.

Players Runs scored | Runs scored Runs scored in
in 2015 in 2016 2017

A (x + 240) (x —180) (1.5x + 8)

B (2x—180) (2.5x + 120) (x + 200)

C (1.5x + 240) | 4x (1.5x—120)

D 2.5x (3x—320) 5x

e Question No. 63

If the ratio of the runs scored by player D in 2016 to the runs scored by player C in 2017 is 5:3, then find the average

runs scored by players B and D in 2017.

Options:

1.820



2.800
3.720
4.850

5.860

Answer : 820

Direction:

Answer the questions based on the information given below.

ixam

%

The given table shows the runs scored by four cricketers in domestic tournaments in three different years i.e. in

2015, 2016 and 2017.

Players Runs scored | Runs scored Runs scored in
in 2015 in 2016 2017

A (x + 240) (x—180) (1.5x+ 8)

B (2x — 180) (2.5x + 120) (x+200)

C (1.5x + 240) | 4x (1.5x—120)

D 2.5x (3x — 320) 5X

e Question No. 64

If the runs scored by players A and C in 2015, together is 1920 less than the runs scored by player D in 2017, then find

the runs scored by player B in all the given years.

Options:

1.5020
2.5400
3.5420
4.5320

5.5405

Answer : 5420

Direction:

Answer the questions based on the information given below.
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The given table shows the runs scored by four cricketers in domestic tournaments in three different years i.e. in

2015, 2016 and 2017.

Players Runs scored | Runs scored Runs scored in
in 2015 in 2016 2017

A (x + 240) (x —180) (1.5x + 8)

B (2x—180) (2.5x + 120) (x + 200)

C (1.5x + 240) | 4x (1.5x—120)

D 2.5x (3x—320) 5x

e Question No. 65

Which of the following can be determined without finding the value of ‘x’?

|. Difference between the runs scored by player A in 2015 and runs scored by player B in 2017.

IIl. Percentage by which the runs scored by player D in 2017 is more/less than the runs scored by player Cin 2016.

Il. Ratio of runs scored by player A in 2017 to runs scored by player D in 2015.

Options:
1.1
2.1and lll
3.1
4.1, 11and I
5.1

Answer: |, Il and Il

Direction:

Study the following information carefully and answer the question given below:

Eight friends Amitesh, Arjun, Aliya, Amod, Ashok, Ashwani, Aditya and Aniket have their wedding anniversary in the
different months of the year viz. May, July, September and November but not necessarily in the same order. They
have anniversary on either 12 or 27 of the month. No two persons have the same anniversary date. Amitesh's

anniversary is in the month which has 30 days but not on an odd numbered date. Only three persons have their
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anniversary between Amitesh's and Arjuns'. Arjun's anniversary is on an even numbered date. Ashok and Amod have
their anniversary in one particular month that has 31 days. Amod does not have his anniversary before Ashok's.
Besides, both of them did not have their anniversary in the month of May. Only one person has his anniversary
between Ashwani and Aniket. Aliya does not have his anniversary on an even numbered date. Aniket has his

anniversary just after Aditya's

Question No. 66

Whose anniversary ison 27th of July?
Options:

1. Amod
2. Ashwani
3. Arjun
4. Amitesh

5. None of these
Answer : Amod

Direction:

Study the following information carefully and answer the question given below:

Eight friends Amitesh, Arjun, Aliya, Amod, Ashok, Ashwani, Aditya and Aniket have their wedding anniversary in the
different months of the year viz. May, July, September and November but not necessarily in the same order. They
have anniversary on either 12 or 27 of the month. No two persons have the same anniversary date. Amitesh's
anniversary is in the month which has 30 days but not on an odd numbered date. Only three persons have their
anniversary between Amitesh's and Arjuns'. Arjun's anniversary is on an even numbered date. Ashok and Amod have
their anniversary in one particular month that has 31 days. Amod does not have his anniversary before Ashok's.
Besides, both of them did not have their anniversary in the month of May. Only one person has his anniversary
between Ashwani and Aniket. Aliya does not have his anniversary on an even numbered date. Aniket has his

anniversary just after Aditya's

Question No. 67

How many persons anniversariesarefalling between Aditya's and Ashok's?
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Options:

1.5
2.2
3.3
4.4

5. None of these
Answer: 3

Direction:

Study the following information carefully and answer the question given below:

Eight friends Amitesh, Arjun, Aliya, Amod, Ashok, Ashwani, Aditya and Aniket have their wedding anniversary in the
different months of the year viz. May, July, September and November but not necessarily in the same order. They
have anniversary on either 12 or 27 of the month. No two persons have the same anniversary date. Amitesh's
anniversary is in the month which has 30 days but not on an odd numbered date. Only three persons have their
anniversary between Amitesh's and Arjuns'. Arjun's anniversary is on an even numbered date. Ashok and Amod have
their anniversary in one particular month that has 31 days. Amod does not have his anniversary before Ashok's.
Besides, both of them did not have their anniversary in the month of May. Only one person has his anniversary
between Ashwani and Aniket. Aliya does not have his anniversary on an even numbered date. Aniket has his

anniversary just after Aditya's

Question No. 68

Four of thefollowing fivearealikein a certain way and so form a group. Which one does not belong to that group?
Options:

1. Amitesh
2. Ashwani
3. Aditya
4. Aniket

5. Aliya
Answer : Aliya

Direction:
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Study the following information carefully and answer the question given below:

Eight friends Amitesh, Arjun, Aliya, Amod, Ashok, Ashwani, Aditya and Aniket have their wedding anniversary in the
different months of the year viz. May, July, September and November but not necessarily in the same order. They
have anniversary on either 12 or 27 of the month. No two persons have the same anniversary date. Amitesh's
anniversary is in the month which has 30 days but not on an odd numbered date. Only three persons have their
anniversary between Amitesh's and Arjuns’. Arjun's anniversary is on an even numbered date. Ashok and Amod have
their anniversary in one particular month that has 31 days. Amod does not have his anniversary before Ashok's.
Besides, both of them did not have their anniversary in the month of May. Only one person has his anniversary
between Ashwani and Aniket. Aliya does not have his anniversary on an even numbered date. Aniket has his

anniversary just after Aditya's

Question No. 69

Whose anniversary isfalling earlier than that of anyone elsein the group?
Options:

1. Amod
2. Arjun
3. Aliya
4. Aniket

5. None of these
Answer : Arjun

Direction:

Study the following information carefully and answer the question given below:

Eight friends Amitesh, Arjun, Aliya, Amod, Ashok, Ashwani, Aditya and Aniket have their wedding anniversary in the
different months of the year viz. May, July, September and November but not necessarily in the same order. They
have anniversary on either 12 or 27 of the month. No two persons have the same anniversary date. Amitesh's
anniversary is in the month which has 30 days but not on an odd numbered date. Only three persons have their
anniversary between Amitesh's and Arjuns’. Arjun's anniversary is on an even numbered date. Ashok and Amod have
their anniversary in one particular month that has 31 days. Amod does not have his anniversary before Ashok's.
Besides, both of them did not have their anniversary in the month of May. Only one person has his anniversary

between Ashwani and Aniket. Aliya does not have his anniversary on an even numbered date. Aniket has his
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anniversary just after Aditya's

e Question No. 70

How many anniversary dates are falling between Arjun’'sand Aniket's?
Options:

1.6
2.2
3.3
4.4

5. None of these
Answer: 6

Direction:

In the following question assuming the given statementsto be true, find which of the option among the given options
ig/are definitely true and then give your answer s accordingly-:

e Question No. 71

Statement: 158

0=2P=Q,J

Conclusions:
.Q=0
I.0>X
Options:

1. Only | follow

2. Only Il follow

3. Either | or Il follow

4. Neither I nor Il follow

5. Both | and Il follow

Answer : Only Il follow
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Direction:

In the following question assuming the given statementsto be true, find which of the option among the given options
is/are definitely true and then give your answer s accor dingly-:

Question No. 72

Statement: 159

H>F>V

Conclusions:
LV=R

1.V
Options:

1. Only | follow

2. Only Il follow

3. Either | or Il follow

4. Neither I nor Il follow

5.Both I and Il follow
Answer : Only Il follow

Direction:

In the following question assuming the given statementsto be true, find which of the option among the given options
is/are definitely true and then give your answer s accor dingly-:

Question No. 73

Statement:

U>V>W>X Y>Z>X

Conclusions:

L. X
Lu>z

Options:
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1. Only | follow

2. Only Il follow

3. Either | or Il follow

4. Neither I nor Il follow

5. Both | and Il follow
Answer : Only | follow

Direction:

In the following question assuming the given statementsto be true, find which of the option among the given
optionsigare definitely true and then give your answer s accordingly-:

Question No. 74

Statement:

W=7Z=M=0,B=Z=J=R,S>R

Conclusions:

LW
LJ=w
Nn.B=0
IV.Z=0
Options:

1.1and Il are true
2.1, 1land IV are true
3.1, Iand IV are true
4. Only | is true

5. Only Il is true
Answer: |, Il and IV are true

Direction:

In the following question assuming the given statementsto be true, find which of the option among the given options
idare definitely true and then give your answer s accordingly-:
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P$SQ means P is not smaller than Q.

P@Q means P is neither smaller than nor equal to Q.
P#Q means P is neither greater than nor equal to Q.
P&Q means P is neither greater than nor smaller than Q.

P*Q means P is not greater than Q.

Question No. 75

Statement:

S&Z,ZSR R#B,B*C.

Conclusions:
LC@R
ILB@S

LR &S.
IV.R # S.
Options:

1. Only lis true

2.Only Il is true

3.0nly IV is true

4. Either lll or IV and | are true

5. Either Ill or IV is true
Answer : Either Ill or IV and | are true

Direction:

Read the following infor mation car efully and answer the questions given beside:

Seven employees of an organization namely Puneet, Raghav, Dharmesh, Suneel, Chetan, Varun and Suraj belong to
different ranks/roles in the hierarchy. Their designations (not necessarily in same order) in descending order are

mentioned below:
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Chairman > Managing Director > HOD > Senior Manager > Assistant Manager > Executive > Trainee

They like different food items which are available in the canteen menu. The one who is an Executive likes pasta.
Dharmesh whose designation is higher than that of Suneel and he likes Burger. The one who likes noodles is three
ranks higher than the one who likes Pasta. Varun is Chairman and likes Soup. The food item liked by Suraj is Maggie.
Chetan is 2 ranks lower than Varun. The one having third lowest designation likes Cake. Neither Puneet nor Raghav

likes Cake. Senior Manager likes Manchurian. Suraj does not belong to the top three ranks.

Question No. 76
What is the rank of Puneet from Top as per given designation order?
Options:

13
2.4
3.6
4. Either4or6

5.2
Answer : Either 4 or 6

Direction:

Read the following infor mation car efully and answer the questions given beside:

Seven employees of an organization namely Puneet, Raghav, Dharmesh, Suneel, Chetan, Varun and Suraj belong to
different ranks/roles in the hierarchy. Their designations (not necessarily in same order) in descending order are

mentioned below:
Chairman > Managing Director > HOD > Senior Manager > Assistant Manager > Executive > Trainee

They like different food items which are available in the canteen menu. The one who is an Executive likes pasta.
Dharmesh whose designation is higher than that of Suneel and he likes Burger. The one who likes noodles is three
ranks higher than the one who likes Pasta. Varun is Chairman and likes Soup. The food item liked by Suraj is Maggie.
Chetan is 2 ranks lower than Varun. The one having third lowest designation likes Cake. Neither Puneet nor Raghav

likes Cake. Senior Manager likes Manchurian. Suraj does not belong to the top three ranks.
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e Question No. 77
The person whose designation is HOD likes?
Options:

1. Cake

2. Manchurian
3. Pasta

4. Burger

5. Noodles
Answer : Noodles

Direction:
Read the following information car efully and answer the questions given beside:

Seven employees of an organization namely Puneet, Raghav, Dharmesh, Suneel, Chetan, Varun and Suraj belong to
different ranks/roles in the hierarchy. Their designations (not necessarily in same order) in descending order are

mentioned below:
Chairman > Managing Director > HOD > Senior Manager > Assistant Manager > Executive > Trainee

They like different food items which are available in the canteen menu. The one who is an Executive likes pasta.
Dharmesh whose designation is higher than that of Suneel and he likes Burger. The one who likes noodles is three
ranks higher than the one who likes Pasta. Varun is Chairman and likes Soup. The food item liked by Suraj is Maggie.
Chetan is 2 ranks lower than Varun. The one having third lowest designation likes Cake. Neither Puneet nor Raghav

likes Cake. Senior Manager likes Manchurian. Suraj does not belong to the top three ranks.

e Question No. 78

If all the persons are arranged in alphabetical order from top to bottom with respect to designation order, then

Chetan ‘s designation is?
Options:

1. Managing Director
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2. Chairman
3. Senior Manager
4. Assistant Manager

5. Executive
Answer : Chairman

Direction:

Read the following infor mation car efully and answer the questions given beside:

Seven employees of an organization namely Puneet, Raghav, Dharmesh, Suneel, Chetan, Varun and Suraj belong to
different ranks/roles in the hierarchy. Their designations (not necessarily in same order) in descending order are

mentioned below:
Chairman > Managing Director > HOD > Senior Manager > Assistant Manager > Executive > Trainee

They like different food items which are available in the canteen menu. The one who is an Executive likes pasta.
Dharmesh whose designation is higher than that of Suneel and he likes Burger. The one who likes noodles is three
ranks higher than the one who likes Pasta. Varun is Chairman and likes Soup. The food item liked by Suraj is Maggie.
Chetan is 2 ranks lower than Varun. The one having third lowest designation likes Cake. Neither Puneet nor Raghav

likes Cake. Senior Manager likes Manchurian. Suraj does not belong to the top three ranks.
Question No. 79
How many people are there between the one who like Soup and the one who like Pasta?

Options:

1.3

2.4
3.6
4.5

5.2
Answer: 4

Direction:
Read the following infor mation car efully and answer the questions given beside:
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Seven employees of an organization namely Puneet, Raghav, Dharmesh, Suneel, Chetan, Varun and Suraj belong to
different ranks/roles in the hierarchy. Their designations (not necessarily in same order) in descending order are

mentioned below:
Chairman > Managing Director > HOD > Senior Manager > Assistant Manager > Executive > Trainee

They like different food items which are available in the canteen menu. The one who is an Executive likes pasta.
Dharmesh whose designation is higher than that of Suneel and he likes Burger. The one who likes noodles is three
ranks higher than the one who likes Pasta. Varun is Chairman and likes Soup. The food item liked by Suraj is Maggie.
Chetan is 2 ranks lower than Varun. The one having third lowest designation likes Cake. Neither Puneet nor Raghav

likes Cake. Senior Manager likes Manchurian. Suraj does not belong to the top three ranks.

Question No. 80
If Varun related to ‘Noodles’ and Dharmesh related to ‘Manchurian’ then Suneel related to?
Options:

1. Burger
2. Maggie
3. Cake

4. Pasta

5. None of these
Answer : Maggie

Direction:

Study thefollowing information car efully to answer the given questions.

Eight persons who belongs to different cities viz. Bokaro, Ludhiana, Pune, Varanasi, Mumbai, Jaipur, Lucknow and
Agra they were sitting in two parallel rows containing four people each, in such a way that there is an equal
distance between adjacent persons. Inrow 1: J, K, L and M are seated not necessarily in the same order and all of
them were facing south. In row 2: P, Q, R and S are seated not necessarily in the same order and all of them were
facing north. Therefore, in the given seating arrangements each member seated in a row faces another member of

the other row.
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()L sits second to right of the person who belongs to Agra. R is an immediate neighbour of the person who faces

the person who belongs to Agra. Only one person sits between R and the person who belongs to Varanasi.

(i) K faces the person who belongs to Lucknow. The person who belongs to Ludhiana is on the immediate left of Q.

Immediate neighbour of the person who belongs to Varanasi faces the person who belongs to Pune.

(iii) The person who belongs to Bokaro faces the person who belongs to Jaipur. R does not belongs to Jaipur. Q

faces the person who belongs to Mumbai. The one who faces S sits to the immediate left of J.

Question No. 81
Who among the following person sits opposite to L?
Options:

1.Q
2.S
3.R
4. Can't be determined

5. None of these
Answer : None of these

Direction:

Study the following information carefully to answer the given questions.

Eight persons who belongs to different cities viz. Bokaro, Ludhiana, Pune, Varanasi, Mumbai, Jaipur, Lucknow and
Agra they were sitting in two parallel rows containing four people each, in such a way that there is an equal
distance between adjacent persons. Inrow 1: J, K, L and M are seated not necessarily in the same order and all of
them were facing south. In row 2: P, Q, R and S are seated not necessarily in the same order and all of them were
facing north. Therefore, in the given seating arrangements each member seated in a row faces another member of

the other row.

()L sits second to right of the person who belongs to Agra. R is an immediate neighbour of the person who faces

the person who belongs to Agra. Only one person sits between R and the person who belongs to Varanasi.

(ii) K faces the person who belongs to Lucknow. The person who belongs to Ludhiana is on the immediate left of Q.

Immediate neighbour of the person who belongs to Varanasi faces the person who belongs to Pune.
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(iii) The person who belongs to Bokaro faces the person who belongs to Jaipur. R does not belongs to Jaipur. Q

faces the person who belongs to Mumbai. The one who faces S sits to the immediate left of J.

Question No. 82

Four of the following are related to each other in some way and hence form a group which of the following is the

one that does not belong to the group?
Options:

1)

2.K
3.Q
4.S

5.L
Answer: L

Direction:

Study the following information carefully to answer the given questions.

Eight persons who belongs to different cities viz. Bokaro, Ludhiana, Pune, Varanasi, Mumbai, Jaipur, Lucknow and
Agra they were sitting in two parallel rows containing four people each, in such a way that there is an equal
distance between adjacent persons. In row 1: J, K, L and M are seated not necessarily in the same order and all of
them were facing south. In row 2: P, Q, R and S are seated not necessarily in the same order and all of them were
facing north. Therefore, in the given seating arrangements each member seated in a row faces another member of

the other row.

()L sits second to right of the person who belongs to Agra. R is an immediate neighbour of the person who faces

the person who belongs to Agra. Only one person sits between R and the person who belongs to Varanasi.

(ii) K faces the person who belongs to Lucknow. The person who belongs to Ludhiana is on the immediate left of Q.

Immediate neighbour of the person who belongs to Varanasi faces the person who belongs to Pune.

(iii) The person who belongs to Bokaro faces the person who belongs to Jaipur. R does not belongs to Jaipur. Q

faces the person who belongs to Mumbai. The one who faces S sits to the immediate left of J.
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e Question No. 83
Who among the following person is to the immediate right of the one who belongs to Jaipur?
Options:

1L

2.5
3.Q
4.K

5. None of these
Answer : K

Direction:

Study thefollowing information carefully to answer the given questions.

Eight persons who belongs to different cities viz. Bokaro, Ludhiana, Pune, Varanasi, Mumbai, Jaipur, Lucknow and
Agra they were sitting in two parallel rows containing four people each, in such a way that there is an equal
distance between adjacent persons. Inrow 1: J, K, L and M are seated not necessarily in the same order and all of
them were facing south. In row 2: P, Q, R and S are seated not necessarily in the same order and all of them were
facing north. Therefore, in the given seating arrangements each member seated in a row faces another member of

the other row.

()L sits second to right of the person who belongs to Agra. R is an immediate neighbour of the person who faces

the person who belongs to Agra. Only one person sits between R and the person who belongs to Varanasi.

(i) K faces the person who belongs to Lucknow. The person who belongs to Ludhiana is on the immediate left of Q.

Immediate neighbour of the person who belongs to Varanasi faces the person who belongs to Pune.
(iiif) The person who belongs to Bokaro faces the person who belongs to Jaipur. R does not belongs to Jaipur. Q
faces the person who belongs to Mumbai. The one who faces S sits to the immediate left of J.

e Question No. 84

P belongs to which one of the following cities?
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Options:

1. Varanasi
2. Lucknow
3. Pune

4. Bokaro

5. None of these
Answer : None of these

Direction:

Study the following information car efully to answer the given questions.

Eight persons who belongs to different cities viz. Bokaro, Ludhiana, Pune, Varanasi, Mumbai, Jaipur, Lucknow and
Agra they were sitting in two parallel rows containing four people each, in such a way that there is an equal
distance between adjacent persons. Inrow 1: J, K, L and M are seated not necessarily in the same order and all of
them were facing south. In row 2: P, Q, R and S are seated not necessarily in the same order and all of them were
facing north. Therefore, in the given seating arrangements each member seated in a row faces another member of

the other row.

()L sits second to right of the person who belongs to Agra. R is an immediate neighbour of the person who faces

the person who belongs to Agra. Only one person sits between R and the person who belongs to Varanasi.

(ii) K faces the person who belongs to Lucknow. The person who belongs to Ludhiana is on the immediate left of Q.

Immediate neighbour of the person who belongs to Varanasi faces the person who belongs to Pune.

(iii) The person who belongs to Bokaro faces the person who belongs to Jaipur. R does not belongs to Jaipur. Q
faces the person who belongs to Mumbai. The one who faces S sits to the immediate left of J.

Question No. 85

Who among the following person is second to the right of Q?

Options:

1P

2.5
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3.R
4. Can’t be determined

5. None of these
Answer: R

Direction:
Study the following information carefully to answer the given questions below-:

A is father of P who is brother in law of S. K is daughter in law of J who is grandmother of F. A has only two children
one son and one daughter.B is sister in law of K. A is father in law of K. S is unmarried.

Question No. 86

How is F related to B?

Options:

1.Son

2. Nephew
3. Niece

4. Brother

5. Cannot be determined
Answer : Cannot be determined

Direction:
Study the following information carefully to answer the given questions below-:

A is father of P who is brother in law of S. K is daughter in law of J who is grandmother of F. A has only two children
one son and one daughter.B is sister in law of K. A is father in law of K. S is unmarried.

Question No. 87

How is B related to A?

Options:

1. Son
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2. Daughter
3. Father
4. Mother

5. None of these
Answer : Daughter

Direction:
Study the following information carefully to answer the given questions below

There are ten members in family M,N,O,P,Q,R,S,T,U,V. Three generations and three married couples in the family. N is
maternal grandfather of S, who is sister of O. U is sister of T. Q is male. R is son in law of M, who is mother of three
children. T is brother of Q and son of N,who is father in law of V, who is not married to T. U is sister in law of V and
aunt of P. R has only daughter and P is not granddaughter of N. P is male

Question No. 88

If Jis married to P, then How is J related to V

Options:

1. Daughter in law
2. Sister in law

3. Father in law

4. Cousin

5. None of these
Answer : Daughter in law
Direction:
TYPE -1
Question No. 89
Select the odd letters from the given alternatives?

Options:
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1. CGK
2. GKN
3.0SW

4. KOS

Answer : GKN

Direction:
Study the following information to answer the given questions:

In acertain code language, ‘pertinent author rhetoric descended’ is written as '61&H 10%J 81#Y 40#X’
‘alliance feudal dominant local " is written as 10%W 60%P 40%H 21%P’
‘influence belonged elements derived ' is written as ‘90#W 20@X 50&I 405X’

‘settling economy modern capital " is written as ‘91&U 50#C 31SN 30%P’

Question No. 90
The code 20 @W’ represents which of the following word?
Options:

1. executive
2. ceasefire
3. exchange
4. believe

5. None of these
Answer : believe

Direction:
Study the following information to answer the given questions:

In a certain code, “ travel worst celebrated widely ” is written as ‘5%T, 25Q, 22%G, 2%K’

“ anticipated surge tribe highest ” is written as 24SP, 6SW, 55T, 175K’

0(6
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“ comment literal sense exaggerated ” is written as 225Q, 135K, 65G, 2057’
“join question certain language” is written as “15%Q, 8%W, 225G, 13%C’
Question No. 91
The code “12 $SC’ denotes which of the following word?
Options:

1. peculiar

2. matured

3. period

4. realistic

5. None of these
Answer : matured
Direction:
Study the following information to answer the given questions:
Inacertain code, “ practice provided challenge judgement” iswrittenas‘7* L, 6*L , 7" Y, 22% R’

“ strength passion final remember” iswritten as*10#1, 16* L, 14@ V, 20! J’

“ field achievement pushed hesitant” iswritten as‘'6@ V, 22~A , 6* L, 22& T’

“ toughen suggest children weak ” iswritten as‘16? H, 22# , 16" Y, 13/ E’

Question No. 92

Which of the following denotes 7%R’ code

Options:

1. Provide
2. Fruit
3. Resolution

4, Justice

0(6



5. Traces
Answer : Justice

Direction:
Study the information below and answer the following questions.—

In acertain code language,

" elections reservations policies destiny’ is writtenas “14 ~V 30*H 24 @0 M #H”
" structures violence matters patronage’ is writtenas 29!l 30 @L 20 #G 25~G”
’ column conceived descended point’ is writtenas“9$0 12~*M 13~H 218&R”

“upper century society disconnect’ is written as “26 &K 10 #M 26 #X 14'H”

e Question No. 93

Which of the following denotes 12 SV 17@K’ code?

Options:

1. battle process

2. compulsory apply
3. carbon portion

4. frenzy imported

5. None of these
Answer : frenzy imported

Direction:
Study the information below and answer the following questions.—

In acertain code language,

" elections reservations policies destiny’ is writtenas “14 V. 30*H 24 @0 M #H”

" structures violence matters patronage’ is writtenas 29!l 30 @L 20 #G 25~G”

’ column conceived descended point’ is writtenas“9$0 12~M 13~H 218&R”

“upper century society disconnect’ is written as “26 &K 10 #M 26 #X 14!H”

ixam
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e Question No. 94

If ‘the last’ is coded as 23~V 16%H’, ‘dead smuggling’ is coded as ‘8%Z 28 ~F, then ‘drop of surge’ may represent

which of the following code?
Options:

1. 21%Q 12+W 5&P
2.16%S 5+N 428&Y
3.8%L 16+U 27&l

4. Cannot be determined

5. None of these
Answer : Cannot be determined

Direction:

Study thefollowing information carefully and answer the question given below:

Eight boxes - A, B, C, D, E, F, G and H were placed in an almirah of eight shelves. The bottom shelf was numbered 1
and the topmost shelf was numbered 18. Each of these boxes contained different amount of Sugar - 35 kg, 30 kg, 27

kg, 20 kg, 18 kg, 15 kg, 12 kg and 11 kg but not necessarily in the same order.

Box G was placed at one of the even numbered shelves and contained 27 kg of Sugar. The box which was placed on
6th shelf contained 20 kg of Sugar. Box B was placed immediately below the box which contained 18 kg of Sugar
and immediately above the box which contained 12 kg of Sugar. Box C was not the lightest and Box F, was the
heaviest. Box C was placed above the shelf on which Box F was placed but not on the even numbered shelf. Box A,
contained 30 kg of Sugar, and was placed either at the top or bottom shelf. There are three boxes between Box F
and Box D and Box D was placed below the shelf on which Box F was placed. E was placed immediately above the

box which was heaviest.
e Question No. 95
How many box (es) were placed above the box which contained 35 Kg of Sugar?

Options:

1. None
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2.0ne
3. Two
4. Three

5. More than three
Answer : Three

Direction:

Study the following information carefully and answer the question given below:

Eight boxes - A, B, C, D, E, F, G and H were placed in an almirah of eight shelves. The bottom shelf was numbered 11
and the topmost shelf was numbered 18. Each of these boxes contained different amount of Sugar - 35 kg, 30 kg, 27

kg, 20 kg, 18 kg, 15 kg, 12 kg and 11 kg but not necessarily in the same order.

Box G was placed at one of the even numbered shelves and contained 27 kg of Sugar. The box which was placed on
6th shelf contained 20 kg of Sugar. Box B was placed immediately below the box which contained 18 kg of Sugar
and immediately above the box which contained 12 kg of Sugar. Box C was not the lightest and Box F, was the
heaviest. Box C was placed above the shelf on which Box F was placed but not on the even numbered shelf. Box A,
contained 30 kg of Sugar, and was placed either at the top or bottom shelf. There are three boxes between Box F
and Box D and Box D was placed below the shelf on which Box F was placed. E was placed immediately above the

box which was heaviest.

Question No. 96

What amount of Sugar was contained by Box B?
Options:

1.18 Kg
2.1 Kg
3.15 Kg
4.12 Kg

5. None of these
Answer : 11 Kg

Direction:
Study the following information carefully and answer the question given below:
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Eight boxes - A, B, C, D, E, F, G and H were placed in an almirah of eight shelves. The bottom shelf was numbered 11
and the topmost shelf was numbered 18. Each of these boxes contained different amount of Sugar - 35 kg, 30 kg, 27

kg, 20 kg, 18 kg, 15 kg, 12 kg and 11 kg but not necessarily in the same order.

Box G was placed at one of the even numbered shelves and contained 27 kg of Sugar. The box which was placed on
6th shelf contained 20 kg of Sugar. Box B was placed immediately below the box which contained 18 kg of Sugar
and immediately above the box which contained 12 kg of Sugar. Box C was not the lightest and Box F, was the
heaviest. Box C was placed above the shelf on which Box F was placed but not on the even numbered shelf. Box A,
contained 30 kg of Sugar, and was placed either at the top or bottom shelf. There are three boxes between Box F
and Box D and Box D was placed below the shelf on which Box F was placed. E was placed immediately above the

box which was heaviest.

Question No. 97

How many boxes were placed between the box which contained 15 kg of Sugar and the box which contained 11 kg

of Sugar?
Options:

1. More than three
2.None

3.0ne

4.Two

5. Three
Answer : More than three

Direction:

Study the following information carefully and answer the question given below:

Eight boxes - A, B, C, D, E, F, G and H were placed in an almirah of eight shelves. The bottom shelf was numbered 11
and the topmost shelf was numbered 18. Each of these boxes contained different amount of Sugar - 35 kg, 30 kg, 27

kg, 20 kg, 18 kg, 15 kg, 12 kg and 11 kg but not necessarily in the same order.

Box G was placed at one of the even numbered shelves and contained 27 kg of Sugar. The box which was placed on
6th shelf contained 20 kg of Sugar. Box B was placed immediately below the box which contained 18 kg of Sugar

and immediately above the box which contained 12 kg of Sugar. Box C was not the lightest and Box F, was the
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heaviest. Box C was placed above the shelf on which Box F was placed but not on the even numbered shelf. Box A,
contained 30 kg of Sugar, and was placed either at the top or bottom shelf. There are three boxes between Box F
and Box D and Box D was placed below the shelf on which Box F was placed. E was placed immediately above the

box which was heaviest.

e Question No. 98
Which of the following combinations is correct?
Options:

1.7-C-18Kg
2.1 - A-30Kg
3.12-B-11Kg
4.6 - G - 27Kg

5. None is correct
Answer:12 - B -1Kg

Direction:

Study the following information carefully and answer the question given below:

Eight boxes - A, B, C, D, E, F, G and H were placed in an almirah of eight shelves. The bottom shelf was numbered 11
and the topmost shelf was numbered 18. Each of these boxes contained different amount of Sugar - 35 kg, 30 kg, 27

kg, 20 kg, 18 kg, 15 kg, 12 kg and 11 kg but not necessarily in the same order.

Box G was placed at one of the even numbered shelves and contained 27 kg of Sugar. The box which was placed on
6th shelf contained 20 kg of Sugar. Box B was placed immediately below the box which contained 18 kg of Sugar
and immediately above the box which contained 12 kg of Sugar. Box C was not the lightest and Box F, was the
heaviest. Box C was placed above the shelf on which Box F was placed but not on the even numbered shelf. Box A,
contained 30 kg of Sugar, and was placed either at the top or bottom shelf. There are three boxes between Box F
and Box D and Box D was placed below the shelf on which Box F was placed. E was placed immediately above the

box which was heaviest.

e Question No. 99



V24
SBI PO Prelims 2022 Previous Year Paper IXam

— Prepare 5 O% Faster

Four of the following five are alike in some way and hence form a group. Which of the following is the one that

does not belong to the group?
Options:

1.G
2.B
3.C
4.F

5.E
Answer: E

Direction:
Study the following information carefully and answer the questions below-:

e Question No.100

How many such pair of letter are there in the words REVOLATION' which have the same number of latter

between them as they have in the English alphabetize series in the both directions.
Options:

1.2
2.3
3.4
4.5

5.6

Answer: 4

Attempt Mock Test Now
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